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5-75. The steel shaft has a diameter of 40 mm and i {ixed
atits ends A4 and B.1f it is subjected to the cauple. determine

i the maximum shear stress in regions AC and CR of the <)
SEL\J’Y\QM‘_ - G, = 10.8(10°) ksi.
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; . Z_81. The A-36steel shait is made [rom two seoments: 1o

SoLuTich) — has a diameter of L in. and €8 has a diameter of 2 in. [f it is

fixed ar its ends A and B and subjected to a torgue of

: T =500 b - ft, determine the absolute maximum she.r
(Ve ) -

stress in the shaft.
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592, The shaft is made of red brass C83400 and has un
elliptical cross section. If it is subjected (o the torswns
loading shown. determine the maximum shear stress withis

ool uTionNt -

i

' CS] W — regions AC and BC.and the angle of twist ol end B rehative
4 to end A.

I 5_93, Solve Prob.5-92 [or the maximum shear stress within
1 G = 3 3 el - regions AC and BC,and the angle of twist & of end & relatve

‘ to C.
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5.97. The aluminum strut is fixed between the two wallk
ar 4 and B 10 it has 2 2 in. by 2 in. square cross section, an.t
it is subjected to the torgue of 80 1b - frat C. determine ..
reactions at the fixed supports. Also. what is the angle of iwis
at C7 G, = 3.8(10%) ksi.
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5-99, The plastic tube is subjected to a torque of LSO -
Determine the mean dimension a of its sides il the allowaine
shear stress is Tyow = 60 MPa. Each side has a thickness of
t = 3 mm. Neglect stress concentrations at the corners.

*5-100. The plastic tube is subjected to a torque of

150 N - m. Determine the average shear stress in the tube if
the mean dimension ¢ = 200 mm. Each side has a thickness
of t = 3 mm. Neglect stress concentrations at the corners.
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5_110. The plastic hexagonal tube is subjected 10 a toTgue

‘S CLUTION \_-"‘ of 150 N+ m. Determine the mean dimension a of its sides
_ if the allowable shear stress IS Taew = 60 MPa, Each side has
a thickness of 1 =3 mm.
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